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Instructions : (1) All questions are compulsory.

(2) Attempt all questions including Question No. 1 which is
compulsory.

(3) Answer each next main question on a new page.

(4) Illustrate your answers with neat sketches wherever necessary.

(5) Figures to the right indicate full marks.

(6) Assume suitable data, if necessary.

(7) Use of Non-programmable Electronic Pocket Calculator is
permissible.

(8) Mobile Phone, Pager and any other Electronic Communication
devices are not permissible in Examination Hall.

Marks

1. @ Attemptany sixof thefollowing: (6x2=12)
1) Definesurvey and stateitsobject.
2) Draw theconventional symbolsfor following
1) Embankment
2) Cutting.
3) Statetheuseof following
1) Arrow
2) Wooden peg.
4) Define:
1) Baseline
2) Checkline.
5) What ismeant by perpendicular and oblique offset ?
6) Statetheprincipleof planetablesurvey.
7) Definetrue meridian and magnetic meridian.
8) Define:
1) Daum
2) Changepoint.
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b) Attempt any two of thefollowing: (4x2=38)
1) Stateandexplainprincipleof survey.

2) Alinewasmeasured by 20 m chain which was accurate before starting the day’swork.
After chaining 900 m, the chainwasfound to be 6 cmtoo long.After chaining total distance
1575 mthe chainwasfound to be 14 cmtoo long. Find thetrue distance of theline.

3) Stateany four codesof signasinranging.

2. Attemptany four of thefollowing: (4x4 =16)
1) Explainindetail classficationof survey.
2) Draw theneat sketch of 30 m chain.
3) Explainprinciple, construction, useof optical square.
4) Convertfollowing bearing to another bearing system.
1) N28°33E 2) S41°5E
3) 240°130 4) 270°00
5) What ismeant by orientation in planetable survey ? Stateits method and explain any one,
6) ExplainTemporary adjustment of dumpy level.

3. Attempt any four of thefollowing: (4x4 =16)
1) Explainchainingondopingground.
2) What ismeant by well conditioned andill conditioned triangles? Draw thefig.
3) Define:
1) Wholecirclebearing
2) Reduced bearing
3) Forebearing
4) Back bearing.

4) Followingarethebearing of lineof closedtraverseABCD. Cdculateinterior anglesof traverse.

Line F.B.
AB | N 45°10E
BC | S60°40E
CD | S9°50W
DA | N 80°40'W

5) Explain Radiation method of planetablesurvey.
6) Statefundamental axisof dumpy level and givetheir relationship.
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4. Attemptany four of thefollowing: (4x4 =16)
1) Findtheareaof thefield doneby cross-staff survey.
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2) Statethesourcesof errorsin compasssurvey.
3) ExplainIntersection method of planetablesurvey.
4) Explaintypesof benchmarks.
5) Differentiate betweenH.l. method and riseand fal method.
6) Thebearing of lineAB is153°30" and angleABC 135°40" . What isbearing of BC ?
5. Attemptany four of thefollowing: (4x4 =16)

1) Explainhow will you overcomethe obstaclesover river during chaining operation.

2) What ismeant by |local attraction ?How will you suspect local attraction at thefield ? Stateits
effect onincluded angle.

3) Stateany four advantagesand disadvantagesof planetable survey.

4) What ismeant by profilelevelling and cross-sectioning ?

5) Followingreadingsweretakenwith dumpy level.

3.865, 3.345, 2.930, 1.950, 0.855, 3.795, 2.640, 1.540, 1.935, 0.865 and 0.665.
Thelevel was shifted after 5t and 81 reading. Thefirst reading wastakenon B.M. of R.L.
150-250. Calculate R.L. of remaining points.Apply usual check useH.I. method.

6) Following consecutivereading weretaken on continuoudy s oping ground with dumpy level
3.875, 3.630, 2.865, 1.945, 0.920, 3.165, 2.895, 1.125, 0.965 and 0.785. Thefirst reading
wastakenon B.M. of R.L. 260-865. Useriseand fall method. FindtheR.L.’sof dl pointsand
apply usud check.
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6. Attempt any two of thefollowing:

1) Followingforeand back bearingswere observedin running closecompasstraverse.

[4]

1) Findthestationfreefromlocal attraction.
2) Findcorrected F.B. and B.B.

Line

F.B.

AB

44°30

226°30

BC

124°30°

303°15

CD

181°0

1°0

DA

289°30

108°45’

2) Findthemissingreadings. CaculateR.L.’sof al stationsapply Arithmetical check.

Stan. | B.S. | LS. | ES. | Rise | Fall R.L. Remark
1 | 2345 129.50 BM1
2 1.650 X 10.035
3 2.210 X
4 X 180 | X
5 1.850 1.925 0.455
6 X 0.37 129.00 BM2

3) 1) Whatismeant by closing error ?How will you adjusted graphically ?

i) Stateany four advantagesof autolevel.




